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* You can submit the form ONLY ONCE.

* Fill the following information for further process.
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Name of the Student *

Enter Full Student Code *
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7. Enter Course Name *
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8.

Mark only one oval.

Diploma in Pharmacy

Bachelor of Pharmacy

B.TECH.(CSE)

B.TECH.(ECE)

BCA

B.SC.(CS)

B.SC.(BT)

B.SC.(ANCS)

B.SC.(HN)

B.Sc.(MM)

B.A.(MW)

BBA

B.COM

B.A.(JMC)

BBA(HM)

BBA(LLB)

B.OPTOMETRY

B.SC.(MB)

B.SC.(MLT)

B.SC.(MRIT)

B.SC.(PA)

LLB

B.SC(IT)-AI

B.SC.(MSJ)

Bachelor of Physiotherapy

B.SC.(AM)

Dip.CSE

Dip.ECE

DIP.EE

DIP.CE

*

https://www.google.com/url?q=http://B.COM&sa=D&source=editors&ust=1628747340783000&usg=AFQjCNGl6JR2zcFXOUN-0QBw-DlJOmsdsA
https://www.google.com/url?q=http://B.SC&sa=D&source=editors&ust=1628747340784000&usg=AFQjCNGjML5IXvrALHrCGokJYIdGmbmt5A
https://www.google.com/url?q=http://DIP.EE&sa=D&source=editors&ust=1628747340784000&usg=AFQjCNHrGZ8jjs8wuC_a5t7ruBk9QelcFA
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DIP.CE
DIP.ME

PGDHM

MBA

M.SC.(BT)

M.TECH(CSE)

LLM

M.A.(JMC)

M.A.(ENG)

M.SC.(MATH)

M.SC.(MB)

MCA

M.SC.(MSJ)

M.SC.(AM)

M.SC.CS)

M.SC.(ANCS)

M.SC.(MM)

B.A.(Eng)

Answer all the questions. Each question carry one mark.

9.

Mark only one oval.

Pie chart

Histogram

Ogive

Median

1. Which of the following statistical measurement is not associated with grouped
frequency observation?

https://www.google.com/url?q=http://DIP.ME&sa=D&source=editors&ust=1628747340784000&usg=AFQjCNFne-trtj7GeZO7S5l-Wjq0aYN-2Q
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10.

Mark only one oval.

n+1 n(n+1)

Option 3 Option 4

2.
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11.

Mark only one oval.

68.5

39.5

58.5

60

12.

Mark only one oval.

56.8

0.568

5.68

2.383

13.

Mark only one oval.

5

2

3

1

3.

4.

5. The mode of the following data 2, 1, 3, 2, 1, 5, 2, 2, 1, 6, 4, 21, 3 is:
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14.

Mark only one oval.

16

14.5

13

15.5

15.

Mark only one oval.

Mode=3Median – 2Mean

Mode=3Median + 2Mean

Mode=2Median - 3Mean

Mode=2Median + 3Mean

16.

Mark only one oval.

80

79.77

78.77

77.77

6. The median of the following distribution 10, 13, 9, 7, 37, 16, 27, 32 is:

7. The relation between mean, median and mode is

8.
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17.

Mark only one oval.

2:1

2:2

3:1

none of these

18.

Mark only one oval.

124.5

130.5

140.5

none of these

19.

Mark only one oval.

0

1

2

4

9. A.M of a group of ‘n’ observation is 540; that of a group of ‘m’ observation is
460. If the A.M of the merged group is 520 then n:m is

10.

11.
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20.

Mark only one oval.

false

true

may be true

not determinable

21.

Mark only one oval.

13

29

55

none of these

12. The A.M. of 100 observations is 2.5. So the A.M. of 50 of these observations is
more than 2.5

13.
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22.

Mark only one oval.

Option 1 Option 2

Option 3 none of these

23.

Mark only one oval.

131.29

135.16

134

none of these

14. The AM of the datas 5, 55, 555, … upto nth term is

15.
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24.

Mark only one oval.

5

7.1

5.69

6.69

25.

Mark only one oval.

Option 1 Option 2

Option 3 Option 4

16. The s.d. of maximum daily temperatures in Centigrade scale is 3.16. Then the
s.d. of those of in Fahrenheit scale is

17. The variance of first n natural numbers is
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26.

Mark only one oval.

1

2

3

4

27.

Mark only one oval.

0

4

6

7

28.

Mark only one oval.

1

4

16

12

18. The first four moments of a distribution are 1, 4, 10 and 46 respectively. Then
the third central moment is

19. The second moment about 4 of the set of numbers 2, 4, 6, 8 is

20. The third moment about of 4 of the set of numbers 2, 4, 6, 8 is
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29.

Mark only one oval.

Option 1 Option 2

Option 3 none of these

21.
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30.

Mark only one oval.

0 -1

1 Option 4

31.

Mark only one oval.

leptokurtic

mesokurtic

normal

platykurtic

22. If the mean and the mode of a given distribution are equal then skewness is

23. If kurtosis has a value less than 3 then the distribution is called
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32.

Mark only one oval.

-3

0

4

3

33.

Mark only one oval.

mean=33, median=35, mode=40

mean=35, median=32.5, mode=40

mean=33, median=35, mode=35

mean=35, median=32.5, mode=35

34.

Mark only one oval.

53.5

51.5

55.5

56.5

24. The skewness cannot exceed

25. What would be mean, median and mode of the marks obtained by the
students?

26. The spot speeds (expressed in km/hr) observed at a road section are 66, 62, 45,
79, 32, 51, 56, 60, 53 and 49. The median speed (expressed in km/hr) is
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35.

Mark only one oval.

3.5

4.5

5

5.5

36.

Mark only one oval.

2

3

4

none of these

37.

Mark only one oval.

36%

40%

30%

25%

27. Weights (in kg) of six products are 3, 7, 6, 2, 3 and 4. The median weight (in kg,
upto one decimal place) is

28. If x is the mean of data 3, x, 2 and 4 then the mode is

29.



8/12/2021 Online Examinations (Even Sem/Part-I/Part-II Examinations 2020 - 2021

https://docs.google.com/forms/d/1tVEOcyzuljq3PBU2DTycXFZr-XjoAcQYH58EmtUtiio/edit 17/30

38.

Mark only one oval.

41

40

122/3

121/3

39.

Mark only one oval.

2

3

4

5

40.

Mark only one oval.

-1

-2

-3

none of these

30.

31. The first moment about the points 3 for the set of numbers 4, 6, 8, 10 is

32. If mean, mode and s.d. of a distribution are 40, 30 and 5 respectively then
Pearson’s coefficient of skewness is



8/12/2021 Online Examinations (Even Sem/Part-I/Part-II Examinations 2020 - 2021

https://docs.google.com/forms/d/1tVEOcyzuljq3PBU2DTycXFZr-XjoAcQYH58EmtUtiio/edit 18/30

41.

Mark only one oval.

Option 1 Option 2

Option 3 none of these

42.

Mark only one oval.

biased

consistent

sufficient

efficient

33.

34. If an estimator is good estimator of an unknown parameter then the estimator
should not be
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43.

Mark only one oval.

BLUE

Likelihood

MVUE

none of these

44.

Mark only one oval.

Biased and consistent estimator of population mean

Unbiased and inconsistent estimator of population mean

Biased and inconsistent estimator of population mean

Both unbiased and consistent estimator of population mean

35. Among all consistent estimators, which estimator is of minimum variance?

36. Sample mean of a population is
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45.

Mark only one oval.

Option 1 Option 2

t distribution with n degrees of
freedom

t distribution with (n-1) degrees of
freedom

46.

Mark only one oval.

Type-II error increases

Option 2Type-II error decreases

Type-II error remains unchanged

Type-II error either increases or decreases

37.

38. In a hypothesis testing Type-I error increases then
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47.

Mark only one oval.

Type-I error + Type-II error

1 - Type-I error

Type-II error

none of these

48.

Mark only one oval.

both hypothesis are to be accepted

both hypothesis are to be rejected

only null hypothesis is accepted

only alternative hypothesis is accepted

49.

Mark only one oval.

large sample test

small sample test

both large and small sample test

neither large nor small sample test

39. The value of power of a test is

40. If the computed value lies outside the best critical region then

41. The t-distribution is used for
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50.

Mark only one oval.

F - distribution Option 2

t-distribution Normal (0, 1) distribution

42. To test equality of s.d. of two normal distribution, we need to use
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51.

Mark only one oval.

F - distribution Option 2

t-distribution Normal (0, 1) distribution

43. To test s.d. of a normal distribution, we need to use
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52.

Mark only one oval.

Sample is an element of
Population

Population size < Sample size

Option 3 Option 4

53.

Mark only one oval.

size of the sample

condition of mentality who draws samples

size of the population

none of these

44. Which one of the following is correct?

45. Sample error depends on
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54.

Mark only one oval.

a fixed quantity

a variable quantity

always zero

none of these

55.

Mark only one oval.

distribution of population

distribution of a sample

distribution of a sample statistic

distribution of a parameter

56.

Mark only one oval.

6

7

9

8

46. Sample standard deviation is

47. Sampling distribution is the

48. The mean of the sample variance with sample size 9 drawn from an infinite
population with s.d. 3 is
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57.

Mark only one oval.

625

600

300

none of these

58.

Mark only one oval.

0.27

27

0.027

none of these

59.

Mark only one oval.

Null hypothesis is rejected though it was really false

Null hypothesis is rejected though it was really true

Null hypothesis is accepted though it was really false

Null hypothesis is accepted though it was really true

49.The possible number of samples of size two drawn with replacement from a
population of size 25 is

50. The mean weight of 500 guinea pigs is 5.02 gms and their s.d. is 0.30. Samples
of 100 guinea pigs are drawn. The s.d. of the sample mean is

51. In a test of hypothesis Type-I error is committed when
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60.

Mark only one oval.

Null hypothesis is rejected when it was really false

Null hypothesis is rejected when it was really true

Null hypothesis is accepted when it was really false

None of these

61.

Mark only one oval.

a=1, b=4

a=0.5, b=1

a=0, b=1

a=1, b=-1

62.

Mark only one oval.

1

1/a

a

none of these

52. In a test of hypothesis Type-II error is committed when

53.

54.
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63.

Mark only one oval.

3 successes

both 6 successes and 6 failures

only zero success

only zero failure

64.

Mark only one oval.

25/128

13/216

25/216

11/128

65.

Mark only one oval.

1/128

1/256

7/128

3/256

55.

56. A pair of dice is thrown 4 times. If getting a doublet is considered a success,
the probability of two successes is

57. Ten coins are tossed. Then the probability of getting at least 8 heads is
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66.

Mark only one oval.

3/8

5/8

1/5

3/4

67.

Mark only one oval.

1/2

1/5

1/10

1/20

68.

Mark only one oval.

mutually exclusive

independent events

dependent

both mutually exclusive dependent

This content is neither created nor endorsed by Google.

58. A man is known to speak truth 3 out of 4 times. He throws a die and reports
that it is a six. The probability that it is actually a six is

59. Three of the six vertices of a regular hexagon are chosen at random. The
probability that the triangle with these three vertices is equilateral is

60. A coin is tossed, events {H}, {T} are
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